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Ideals for irreducible component#ﬂ)f Xpar

I = (8u” + 2ub + 43u® — 42u* + 38u® — 164u® + 17b + 20u — 27,
28u” + 58u8 + 244u° + 278u* + 490u® + 191u? + 17a + 53u + 33,
u® + 2u” + 9u® 4+ 10u® + 20u? + 8ud + Tu? +u + 1)
I¥ = (560" — 6u’ 4 421u® + 108u? + 1168u® + 208u? + 397b + 934u + 377,
— 418u” + 300u’ — 2788u’ + 158u* — 4408u> — 475u? + 1191a — 251u — 985,
u® + Tub + 4u® 4 16u* + 10u® + 11u? + Tu + 3)

* 2 irreducible components of dim¢ = 0, with total 16 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.

I = (8u"+2u8+- . -+17b—27, 28u”+58u’+---+17a+33, ud+2u"+- - -4u+1)
(i) Arc colorings
1
as =
G
- ( ;)
—1.64706u” — 3.41176u’ + - - - — 3.11765u — 1.94118
—0.470588u” — 0.117647u5 + - - - — 1.17647u + 1.58824
1.35294u" + 0.588235u° + -+ 6.88235u — 2.94118
—2.70588u” — 5.17647u’ - —6.76471u — 3.11765
—1.64706u" — 3. 41176u° + .-+ —3.11765u — 1.94118
—1.17647u" — 1.29412u8 + - - - — 2.94118u + 1.47059
—1.17647u" — 3.29412u5 + - - - — 1.94118u — 3.52941
ar = \ —1.11765u" — 1.52941uC + - - - — 3.29412u + 0.647059
—7.58824u" — 14.6471u’ + - - - — 17.4706u — 8.76471
az = \ 0.176471u7 + 2.29412u8 + - - - — 5.05882u + 8.52941
—1.64706u" — 1.41176uS + - - - — 7.11765u + 3.05882
ar = 2.41176u” + 4.35294u° + - - - + 6.52941u + 3.23529
—3.64706u" — 12.4118u’ + - - - — 1.11765u — 20.9412
ag = \ —6.70588u” — 9.17647u’ + - - - — 21.7647u + 2.88235
6.52941u" + 11.8824u + - - - + 15.8235u + 6.58824
ag = \ —0.529412u" — 2.88235u’ + - - - + 3.17647u — 7.58824
6.52941u7 + 11.8824u® + - - - + 15.8235u + 6.58824
ag = \ —0.529412u" — 2.88235u’ + - - - + 3.17647u — 7.58824
(ii) Obstruction class = —1
(iii) Cusp Shapes = i$u7 ‘fguﬁ — 21179u5 31879u4 61173u3 51771 u? — 21670u — ?;



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cq u® + 3u” + 1268 + 154 + 32u* + 9u® + 27u? — 21u + 11
C2 u® +15u” + - - 4+ 153u + 121
3 u® 4 2u” + 9u® + 100 + 20u* + 8ud + Tu? +u + 1

Cy4,C5, Cy u® 4+ 8ub — 4u® + 36u* — 2903 + 41u® + 17u + 19

c7, 10 u® + 2u” + 8u® + 3u® + 38u* — 38u® + 58u* — 12u + 7
cs u® —2u” + 10u® + 6u® + 168u* + 139u® + 116u® — 60u + 47
ci1 u® — 4u” + 13u8 — 28u® + 90u* + 60u® + 85u” + 23u + 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce y® +15y" 4+ - 4+ 153y + 121
C2 y® +11y" 4 - 4 414853y + 14641
€3 y® 4 14y" + 8190 + 24295 + 364y* + 214y> + 73y° + 13y + 1
€4, Cs5, Cy yS + 16y" + - - - + 1269y + 361
c7, C1o Y8+ 12y" + - - - + 668y + 49
cs y® + 16y + - + 7304y + 2209
11 y® 4+ 10y" + - + 1341y + 121




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.270939 4 0.5220491
a = —3.45142 + 1.234521
b= —0.44567 — 2.883211

4.85825 — 1.120611

1.61393 + 0.601171

u = —0.270939 — 0.5220491
—3.45142 — 1.234521
b= —0.44567 + 2.883211

4.85825 4 1.120611

1.61393 — 0.601171

u = 0.104875 + 0.4389801
a= 0.849602 4 0.0317311
b= —0.136204 + 0.4263851

0.137633 + 1.0055401

2.51610 — 6.636101

u = 0.104875 — 0.4389801
a= 0.849602 — 0.0317311
—0.136204 — 0.4263851

0.137633 — 1.0055401

2.51610 + 6.636101

—0.66203 + 1.749061
—0.565751 — 0.1301381
—0.274053 — 0.6585901

—5.40704 — 2.799011

1.66145 + 4.109761

—0.66203 — 1.749061
= —0.565751 4+ 0.1301381
= —0.274053 + 0.6585901

b
U
a
b
U
a
b

—5.40704 + 2.799011

1.66145 — 4.109761

u = —0.17191 + 2.006941
a= 1.16757 + 0.880581
b= 2.85593 4 2.12606]

—19.3281 — 7.75451

1.70851 + 2.413641

u = —0.17191 — 2.006941
a= 116757 —0.880581
b= 2.85593 — 2.126061

—19.3281 + 7.75451

1.70851 — 2.413641




II. I¥ = (56u” — 6u® + --- 4 397b + 377, —418u” + 300u® + --- + 1191a —
985, u® + 7Tub + 4u® + 16u* 4+ 10u® + 11u? + 7Tu + 3)

(i) Arc colorings

w=0)

- ()
- ( ;)
0.350966u" — 0.251889u’ + - - - 4+ 0.210747u + 0.827036
—0.141058u” + 0.0151134u’ + - - - — 2.35264u — 0.949622
—0.316541u" + 0.141058u8 + - - - — 2.95802u + 1.13686
—0.251889u” — 0.115869ub + - - - — 1.62972u — 2.05290
0.350966u" — 0.251889u® + - - - + 0.210747u + 0.827036
—0.0251889u" — 0.211587u’ + - - - — 3.06297u — 1.70529
0.492024u" — 0.267003uS + - - - + 2.56339u + 1.77666
ar =\ —0.0982368u” — 0.0251889u’ + - - - — 2.74559u — 1.75063
0.306465u” — 0.425693u’ + - - - 4 2.93283u + 1.58102
az = \ —0.365239u" — 0.0680101uS + - - - — 4.41310u — 1.22670
—0.0772460u" + 0.151134uS + - - - + 2.14022u + 1.83711
ar = \ —0.410579u" + 0.151134u8 + - - - — 0.526448u — 0.496222
—0.518892u” — 0.158690ub + - - - — 3.29723u — 2.52897
ag = \ —0.0251889u” — 0.211587ub + - - - — 1.06297u + 0.294710
—0.590260u” + 0.241814u5 + - - - — 5.30898u — 2.52729
ag = \ 0.425693u” — 0.224181u® + - - - + 2.56423u + 0.919395
—0.590260u” + 0.241814u8 + - - - — 5.30898u — 2.52729
ag = \ 0.425693u” — 0.224181u® + - - - + 2.56423u + 0.919395

(ii) Obstruction class =1

543 7 44 6 | 3749 5 , 1983 4 | 8433 3 | 5363 2 |, 5526 4485
(iii) Cusp Shapes = Son U 397 U° + S u” + S ut + SePut + SRl + Seru+ o



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 W u +4u8 + 3w +6ut + 3w+ 5 +u+1
C2 u® + 7u” + 2208 + 43u® + 58u* + 53ud + 31w + 9u + 1
€3 u® 4+ Tub + 4u® + 16u* + 10u® + 11u® + Tu + 3

Cy4, Cs w4t +6ut —ud + 50t —u+1

Co u® —u" 4+ 4u8 — 3P +6ut — 3w +5u —u+1
c7 w20 + 208 b — 20t — 2+ 1

c8 W =2 — 2t 2+ 2u+1

C9 Wb +6ut +ud+5ul+u+1

C10 W —2u" +2u8 — b -2t 2+ 1

c11 wW—2u"+ub -2t + 2P Ut —u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq y® + Ty" + 225 + 435 + 58y + 533 + 3192 + 9y + 1
C2 y® — 5y" — 2% + 23y + 46y* 4+ 579> + 123y% — 19y + 1
€3 y® 4 14y" + 81y° + 230y° + 336y + 238y> + T7y* 4+ 17y + 9
C4,Cs, Co y® + 8y” + 285 + 58y° + 78yt + 67y% + 35y% + 9y + 1
7,10 Y —4y® —y® + 10yt —4y® + 1
Cs y® — 4y® + 10y —y® — 4y® + 1
cin Y —2y" =3y 6y + 4yt -6y + Py +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.186474 + 0.9124861
0.013874 — 1.3719601 2.35558 — 2.737111 0.76054 + 3.800451
= —0.307955 — 0.5957731

= 0.186474 — 0.9124861
= 0.013874 + 1.3719601 2.35558 4+ 2.737111 0.76054 — 3.800451
= —0.307955 + 0.5957731

= —0.456155 + 0.3548591
= 1.219070 + 0.5681011 6.52667 — 1.608071 7.81804 + 3.924681
= —0.188647 — 1.1564001

= —0.456155 — 0.3548591
= 1.219070 — 0.5681011 6.52667 4 1.608071 7.81804 — 3.924681
—0.188647 + 1.1564001

—0.26697 4 1.431771
—0.909444 — 0.0624441 | —2.57180 — 1.454461 1.40377 + 1.961661
—1.377940 + 0.1565381

—0.26697 — 1.431771
= —0.909444 + 0.06244471 | —2.57180 + 1.454461 1.40377 — 1.961661
= —1.377940 — 0.1565381

0.53665 + 2.143271
= 0.343167 + 0.0061417 | —6.31045 + 2.338231 | —5.48234 — 1.591261
= 0.874540 + 0.2779331

= 0.53665 — 2.143271
= 0.343167 — 0.0061411 | —6.31045 — 2.338231 | —5.48234 + 1.591261
= 0.874540 — 0.2779331




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c (u® 4+ u” 4 4uS + 3u® + 6u* + 3u® + 5u® +u+ 1)
(u® 4 3u” 4 1208 + 15u° + 32u* + 9u® 4 27u? — 21w + 11)
co (u® + Tu” + 220 + 43u® + 58u* + 53u® + 31u? + Ju + 1)
S(u® 41507 + -+ 4 153u + 121)
cs (u® 4 7ub + 4u® + 16u* + 100> + 11u? + Tu + 3)
(u® 4 2u" 4 9u® 4 10u° + 20ut + 8ud + Tu +u+ 1)
¢4, Cs (u® 4 4uS + 6ut — v + 5u? —u+ 1)
(u® 4 8u® — 4u® 4 36u* — 29u® + 41u® 4+ 17u + 19)
6 (u® —u” 4 4uS — 3u® + 6u* — 3u + 5u* —u+ 1)
(u® 4 3u” 4 1208 + 15u° + 320t + 9u® 4 27u? — 21w + 11)
cr (u® + 2u” + 2u® + u® — 2u* — 2u® 4 1)
(u® 4 2u” 4 8u® 4 3u® + 38u* — 38u® + 58u? — 12u + 7)
cs (u® —2u® — 2u* 4+ u® 4 2u® + 2u + 1)
(u® = 2u” + 10u® + 6u® + 168u* + 139u® + 116u* — 60u + 47)
co (u® + 4u® + 6u* + u® + 5u® +u+1)
(u® + 8u® — 4u® 4 36u* — 29u® + 41u® + 17u + 19)
10 (u® — 2u” + 2u® —u® — 2u* + 2u® 4 1)
(u® 4 2u” 4 8ub 4 3u® + 38u* — 38u® + 58u? — 12u + 7)
1t (u® — 4u” 4 13u® — 28u® 4 90u* + 60u> + 85u? + 23u + 11)

S(u® = 2u" b —2ut 20w —u 1)
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Crossings

IV. Riley Polynomials

Riley Polynomials at each crossing

C1,Cq

(y® + 7y" + 22¢° + 43y° + 58y* + 53y + 31y% + 9y + 1)
(y® +15y" 4 -+ + 153y + 121)

C2

(y® — 5y" — 295 + 23y + 46y + 57y> + 123y% — 19y + 1)
S(y® 4+ 11y" + - - + 414853y + 14641)

C3

(y® 4 1497 + 8135 + 230y° + 336y* + 238y° + 77y* + 17y + 9)
(y® + 14y" + 81y5 + 242¢° + 364y* + 214y° + 73y% + 13y + 1)

C4, C5,C9

(y® 4+ 8y” + 28¢5 + 58y° + 78y* + 67y + 35y% + 9y + 1)
(y® 4+ 16y" + -+ - + 1269y + 361)

€7, C10

(y® — 495 —® +10y* —4y® + D(® + 1297 + - - + 668y + 49)

Cs

(y® — 495 +10y* — 3> — 49 + 1)(y® + 16y7 + - - - + 7304y + 2209)

C11

(v® —2y" = 3y° +6y° + 4y —6y° +y° +y+ 1)
(y® 4+ 10y7 4 -+ + 1341y + 121)
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